A mouse - 126, sess - 001, unit - 01, odor - 9 B mouse - 126, sess - 001, unit - 14, odor - 10
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Extended data Figure 2-2. M/T cells responsive to changes in odor concentration.

A. Example of -4C, response. Raster and PSTH plots of M/T cell response to static high concentration (orange),
static low concentration (blue), low to high (purple) and high to low (black). Bar graph on right shows peak
response amplitudes on the third sniff cycle for each stimulus. Error bars indicate standard deviation. B. Example
of cell-odor pair responsive to both +4C; and -4C; stimulation.



